Math 3

Unit 2B Day 2 Notes - Solving Quadratics by Graphing
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Solutions:

2. X=-5 x=-5

3._X=H4

Directions: Find the solutions to each quadratic equation by graphing.

1. f(x)=x*+2x-3
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2. f(x)=—x*-10x-25
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3. f(x)=x*-6x+8




4, f(x)=-x"-11x-28

Solutions:
4. _x=-1 x=-Y4
X= =7 X= -4
5. X=-3 x=3
6. X=0 X=-3
7. No Red Solutions
5. f(x)=x*-9
X= -3 X=3
of
X= +3
6. f(x)=2x>+6x
Xzo x=-3
7. f(x)=—x*+8x-17
No ceak Solutions




Using the graphing calculator to find the real zeros.
Steps:

1. Ifnecessary, turn the quadratic equation into a quadratic function by setting it equal to y.
2. Type the equation into Y1; Set Y2=0

3. Graph the function then use the CALC feature (2nd trace, Option 5: INTERSECT) to find the
locations of where the function crosses the x-axis.

Examples: Find the real zeros for the following.

8. x> +6x+4=0 9.0=4x"+3x—1 10. 3x* +5x—1=
~¥

¥ 3x*+5x -9 =0

K= oS, xe 076, X=-1 X< 0.5

Simplifying Radicals & Solving by Square Root Property xc ~&.76  x=1.09

Case 1: PERFECT SQUARES - Take the square root of the number

Case 2: Non - Perfect Squares — Use calculator

Steps for

Slm 11 'n Steps for Calculator:
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Radlcals Type # under the radical divided by x?
Look for smallest #, that is not a decimal, in the y - column.

Then write: x — value./y — value

Examples: Simplifying Radicals
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Quadratic Equations of the form: ax? + ¢ =0 (has no middle term, bx)
can be solved using the Square Root Property:
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Steps for Solving If x*=n,then x= £Vn
Quadratics by ,
Square Root 1) | ISOLATE
Property 2) | Take the SQUARE ROOT of both sides
3) | Simplify the radical (if needed). Please " + " to indicate both answers.

Examples: Solving Quadratics by Square Root Property

1) [x7-64=0 2) 7x% + 8 = 15 3) 81x2 + 5 = 21
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